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1. Use the array to complete the equation.
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[ can use the array to skip-
count by 4 to find the product.

a. 4 x 14 = &Es

The array shows that there are Irewrote 14 as 2 X 7. Then | moved the
7 groups of 4 X 2. parentheses te make the equation (4 X 2) x 7.

I can multiply 4 X 2 to get 8. Then{can
multiply 8 x 7 to get 56. Rewritiig 14 as 2 x 7
made the problem easier to sofve!

2. Place parentheses in the equations to simplify and solve.

3x21=3%x(3x7)

=(3X3)x7 k= 63 | can put the parentheses around 3 X 3 and then
multiply. 3 X 3 equals 9. Now [ can solve the
= 9 x7 easier multiplication fact, 9 x 7.

12 Lasson 9: Model the associative property as a strategy to multiply. EUREM
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Solve. Then, match the related facts.

8. 24X3=__72 = e -9 % (3%2)

[canthinkof24as8 x \

J

—8X(3x3) 3. Then, | can move the
parentheses to make the
new expression

i canthink of 27 as 9 x 3. Then, | Bx(3x3).3x3=9,
can move the parentheses to make and8x9 =72, so0
the new expression 9 X (3 x 2). 24x3 =72
IX2=6,and9X6=>54so
27 x 2 = b4,

Eu&EKA Lesson 9: Model the associative property as a strategy to multiply.
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